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A 5x —4 = 3x+29]



3. x7F1, 2 3 4, 5% 5t g o, A 3x -2 =5x -8 o] o]
A k= x o] 20

D 1 @ 2 3 3 @ 4 3B 5



@ 1-x=2

@ 3x+1=1

-3

@ 1-2x

® 5—4x =13

—4

@ 2 -3x



® 3(x-2)=2x-9
@ 5-3x=-2x-4

® 4(2x+1)+2(4 +x)

-15+x



@ x=3y°l¥ x+2=3(y+2) °lth

X_ Yoy — 4y ©
@ 3=7 ¥ 3x = 4y °|tt.



o0& T &4 %

oA
rlo

AL

@ a+b=x+y°lHa-y=x-bO|}
@ 3-x=2-yOH6-2x=4-2yo0|c}.
@ a+7=b+5°Ha+1=>b-10]Jt},
@ x=y,a=bOolHx-a=y-bolT}.
® 3x=5y°l® T = 2 oltk
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O& T &4 g2 A7

§

@O -3x=-1°]H x= = o]t}

@ 3a=6b°]"H a=2b o]t}

W =

® § =3 °ldsr=2yolet
@ a=3p°Ha+1=3(b+1)°lth

® ac=bcClHa=hboth(F, c#0)
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@ a-c=b-c©°|Ha=0>bo|t}
© ac = bc ©|9H a = b °|t}.
© a=bolHa-c=b-colt}
@ b5a=10b ©|'H a = 2b ©|t}.
® £ =b ol 3a=b ol
® O,0 ® ©,0 ® 6,0,

@ ©, @ ® A, @



10. o= & &4 g2 A& BF 12H?

@ a-1=b-20Hag=>b-10°|t}h
@ b=3°Hb+x=x+3°t

® a=2b01" a+1=2(b+1)0]T}
b

@ 4q = 5b0]H g = ol

® 3(a-2)=3(b-2)°]"H a=bo|c}.



11. b5 34 %2 Ae 25 1=?

® a+c=b+c°l¥Ha=>bo|t.
@ ac =bc ©|Ha=0b ot}



12. the F 4 S A2 BT nEw7

@D a-1=b+1°Ha-2=0b

a b

—=_0|H3g=2
®3 2] 3a=2b
@az%ol‘ﬁl:

@ 2a-4=2b°|Ha=b+2

® ac=bcolHa=>b






14. 95 F &2 227

®a=bolHa-2=b-30°|th
@ a=bolHa+3=b+20th

® a—bowﬂg w]u}.
@ gzgma:bolu}.

B a=»b°]"H 3qg-2c = 3b + c |t}



15. o= FolA olFet Zlo] &2 A7

D44+ 2x=-3x—>2x+3x=4

@ —4x-3=x+1—>—-4x-x=1+3
®3x-1=2x+1-3x+2x=1-1

@ —x-4=5x+2—>-x-bx=-2+4

B 3x=6x+11 > 3x+6x=11
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O 2x+3=1—2x=1-3

@ 2x4+T7T=x+1—-2x—-x=1-7
@ 5x+10=2x+1—5x-2x+10=1
@ 10=3x+1—3x+1=10

B 21 —=3x=0—21 = 3x



DO x+6=2x-T7T+x
® x2-2(x+1)=1-x

® x(x-5)=10x+x%>+1

@ 4(x+3)=12

@ x—-1=-x+1



® 3(1-x)-3x=0
@ 2+4+x-2x2=1-2x2

B x+24+44=x+6

@ 4x+8=8+4x

@ 4 =3x+ 4x2
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4x-3(1—-ax)=-5+7x 7Fx o &
a o] 2127

Da=1 @ a=3

@ a=+-1 ® a+3

@ azl



® 2(1-x)-3x=0
@ 24+ x-2x2=1+2x2

B 3x+24+4=x+6<+2x

@ 4dx+8=4(x+2)

@ —2x = 3x + 4x2



5(3—ax) = 7x = 8x—b 7} x o Tt LapFA Alo] 7] 9
=7

@ a=-3 @ a#-3

@ ag+-15 o b+ -3



ohe A F LAY A

@® 3x+6-3x
@ 2x-1=3(x-1)—x

B x+x2+1=x

A

29

@ x¥*+1=-x

@ x+x%+3=1x?



23. os FolA dAPEARAE BE I2H?

@D 4x-1=2x @ x2-x4+1=0 ® 5x+2

@§x+1:4 ® 6x>x+1



24. o FolA Gapg Ao
2—-x
O 3

® x2+3x=1

+1=2

B 3x+5=8—x




D 2x-2=3+2x
1
@ gX:X+3

® 3(x-2)=3x-6

@ x>*=2x+4
2

@ =-+5=6
X



O x+1=1
® 2(x-1)=2-2x

® x(x+1)=-2x+1

@ x=x-2

1
@ 2x—3:Z(8x+12)



27. ©hg % QAYRA] ohd AL BE 7299
® ala+3)=2+3a @ 2x(x+3)=2x*>-3
® 4x-4=3x-4 @ 3(5-2x) =2(3x-5)

2(x+2) 5+4x
3 4

®



® 3x-2=5x+38
® 2x% -7 =x(2x-3)

® x(2+x)=2(x+1)

filo

LT 1=2wH?

@ -4x+9=9-4x

@ x®+5x+6=x2+1



(x+1)=x2-2

@ x®+2x=1-x

@ 3(x+2)=6+3x



30. th A FollA x of T A

=2

@ 2x-3
@ 3X+2x:5x

@ 5x—2:3x+7



@ x-9=18+x

@ x*>-3x

@ 3x-2=x+7

X2 -9

® 4x-2=5-4x

B 5x-17=0



@ x*-4=0

@ 5x=3x+3

@ x+(-x)=0

5x—95

® 5(x-1)

—2x -2

® 2(x+1)



® x=0
® 2x-3=5+2x

® 3x(x-1)=x-1

@ 2(x—1)=2x-2

@ 2x2-3x+1=2(x2-1)



® b5x-7

@ x2-4x=x>+3x-1
® 3x-2=3(x+5)

@ 2x—4=2(x-2)

® 3(x-2)+x+1=2(2x+3)



DO x-x*=2x2+1
@ 7-2=5+2

B xxx=16

@ 2(x+1)=x

@ 2(x+1)=2x+4



@ Tx-2x=3x

@ 3x2-4=3x>-x)+2

®

@ 4(x-2)-x+5

5

1

® x2-2x+1=0



37. HE<E7>F AL 25 2 A7

]
@ -2x+3 © 2x-1)=2x-2
© 3x+1=5x-2 @ x2-2x—-1=x*-2
@ 2x-1<x+2

D17 ® 2 7 ® 3 7} @ 4 7Y ® 5 7



38. ta T HALTE1 AN DA ALY

® -2x=3+2(x-1) @ x*-4x=5
® 7T-x=4x+y+3 @ 3(x-2)=3x-6

B x+5=x



@ a=2 @ a=-1

Da=1



21

a

@ a+2

2

a

13

a

@ a+21



4(2-3x)=ax+6

@ a+-6 ® a#0

® a#-12



42. w7h-2, -1,0, 1, 2% shid o, B4 3x-2 = 2 9 S ol
A7

@D -2 2 -1 3 0 @ 1 B 2



43. x7t-1,0, 1554 W, x+3 =3x-19 s & F5HA?

@ szt glok @0 ® -1
@ 1 ® -1. 0,1



44. x7F-3, -2, -1, 0, 1, 2, 3 5 st wf, th-3 B4 FollA sf7t
ymz] ¥zt ofE she?

® x-3=0 @ 4x+1=13
® -3(x-1)=-6 @ 3x+1=10
® 1(x+1)=1

9



x7F =2, -1, 0, 1, 2 F sl o, v YA FollA si7h oA
U3} e shE 1 29?

@ x+1=0 © 5x+2=-3
© 2x+1=-1 @ 3(x—2)=-9
© %(x+2):1

ONQ) @ © 3 © @ @ ® @



